Installation Guide

OP100L
Satellite Offset Antenna @ 100 cm

FIXING BRACKET

CLAMP

FLAT WASHERS 28 UNI 6592

STOP WASHERS 28 UNI 6798

NUTS M8 UNI 5588

PIVOT BRACKET

REFLECTOR SUPPORT

BOLTS M8x120 UNI 5737

PIVOT PLATE

FEED ARM

BOLT M6x65 UNI 5739

FLAT WASHER @6 UNI 6592

NUTS M6 UNI 7473

REFLECTOR

BOLTS M6x12 UNI 5931

LNB HOLDER

SCREW DIN 6901

A lalola|Nw[o]a]lm|mv]=|=|lo oo v v

INSTALLATION NOTE

During the assembly of the reflector (14) on the
reflector support (7), the bolts (15) have to be

while the nuts (13) are screwed.

maintained in a fix position using a screw driver,




Llnstallation GuideJ

OP100L

Satellite Offset Antenna @ 100 cm

USE SCALE ON THE LEFT OF THE
REFLECTOR SUPPORT (7) FOR COARSE
ELEVATION POINTING

Doc. Nr.: IS100 Rev. 2

distributed by KOSMOSAT SA





